Functions 1 Answers

1 @ 2(x-2)-3 BIB1 | BI for-2, Bl for-3
(ii) x=2 orequivalent \VB1 v on their ‘-2’
®) & g(x)24,h"(x)20 BIBl | BI for each
(ii) Correct sketch Bl B1 for g(x)
Bl B1 for g (x)
Bl Bl for idea of symmetry
(iii) g(4x-25)=85 Ml M1 for correct order
(4x-25)" +4=85 DM1 | DMI for attempt to solve
17
x=?,x=4 Al Al for both
Discarding x = 4 Bl Bl for discarding x = 4
[12]
0606/11/M/J/11
(b) (i) Method for inverse M1
Jx+7-3 Al
() g0)=2 Bl
Solves g '(x) =2 or solves x = g(g(0)) = g(2) M1
18 Al [11]
0606/22/M/J/11
7 @) f=-3 Bl
(1]
(i) f'= yx+3-1 Ml M1 for correct order of operations
2 Ml M1 for ‘interchange’ of x and y
Al
[3]
3 2
(iii) (2[—] + 1) -3=13 M1 M1 for correct order
1+x
2
(7 ha x) =16 Al Al for correct simplification
1+x M1 M1 for solution
x=1 Bl BI1 for one solution only
(4]
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7 (i) Idea of modulus correct
Shape and position completely correct
(0, 9) (-3, 0) indicated on graph

(ii) Straight line with +ve gradient and +ve y intercept, correct position

(i) 3x+9=x+6=>x=-15
Solve -(3x+9) =(x+6) or (3x+9)’=(x+6)*
x=-3.75

3 Understands modulus
Curve fromx <2tox>6
Cusp
Position correct

v

/

e

(i) straight line, +ve gradient, — ve intercept
idea of modulus (V shape on axis)
meets axes in correct places

(i) 6
4

Ml
Al
Al

Bl

B1
Ml
Al
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Bl
Bl
DBI1
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Bl
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